Paper / Subject Code: 86570/ Economics: Industrial and Labour Economics

2% Hours Total Marks :80
Please check whether you have got the right question paper
N.B.: 1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q.1.  Answer any two of the following :- 20
(@) Explain the characteristics of the Indian labour market.
(b) Suggest measures to solve the problems of child labours in India.
(c) Write a note on Exit Policy

Q.2.  Answer any two of the following :- 20
(@ Write down the problems of Indian trade unions.
(b) Explain the historical evolution of trade unions in India.
(c) Write down a note on Qutside Leadership in trade unions in India.

Q.3.  Answer any two of the following :- 20
(@) Explain the causes of industrial disputes.
(b) Explain the concept of Collective Bargaining and discuss its features.
(c) What are the methods of workers participation in management?

Q.4.  Answer any two of the following :- 20
(&) Explain the different agencies for labour welfare
(b)  Explain the role of a labour welfare officer.

(c) Write down a note on Social Insurance
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